
Q.1 नीचे तीन कथन �दए गए ह� और उसके बाद तीन �न�कष� I, II तथा III �दए गए ह�। यह मानते �ए �क कथन� म� द�
गई जानकारी सही है, भले ही वे सामा�य �प से �ात त�य� से �भ� �तीत होत ेह�, यह �नण�य ल� �क �दए गए
�न�कष� म� से कौन सा/से �न�कष� कथन� का ता�क�क �प से अनुसरण करता/करत ेह�।

कथन:
सभी क�ड़े प�ी ह�।
सभी सरीसृप प�ी ह�।
कोई केकड़ा प�ी नह� है।

�न�कष�:
I. कोई क�ड़ा सरीसृप नह� है।
II. कुछ क�ड़े सरीसृप ह�।
III. कोई केकड़ा सरीसृप नह� है।

Ans 1. केवल �न�कष� I और या तो II या III अनुसरण करत ेहै।

2. केवल �न�कष� II और III अनुसरण करत ेह�।

3. केवल �न�कष� I और II अनुसरण करत ेह�।

4. केवल �न�कष� III और या तो I या II अनुसरण करत ेह�।

Question ID : 5581012031
Status : Answered

Chosen Option : 4

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 5581012037
Status : Answered

Chosen Option : 4

Q.3

Examination for Selection Posts Phase VII
2019

Roll No.
Registration No.
Name
Test Venue
Test Time 4:00 PM - 5:00 PM
Test Date 15/10/2019
Subject Selection Post Graduate Level

Section : General Intelligence

https://haryanajobs.in



नीचे तीन कथन �दए गए ह� और उसके बाद चार �न�कष� I, II, III तथा IV �दए गए ह�। यह मानते �ए �क कथन� म�
द� गई जानकारी सही है, भले ही वे सामा�य �प से �ात त�य� से �भ� �तीत होत ेह�, यह �नण�य ल� �क �दए गए
�न�कष� म� से कौन सा/से �न�कष� कथन� का ता�क�क �प से अनुसरण करता/करत ेह�। 

कथन:
कुछ ब�ब �ूबलाइट ह�।
कोई �ूबलाइट बटन नह� है।
कोई ब�ब घड़ी नह� है।

�न�कष�:
I. कोई घड़ी �ूबलाइट नह� है।
II. कुछ ब�ब बटन ह�।
III. कुछ �ूबलाइट ब�ब ह�।
IV. कोई घड़ी ब�ब नह� है।

Ans 1. केवल �न�कष� III और IV अनुसरण करत ेह�।

2. केवल �न�कष� I और III अनुसरण करत ेह�।

3. केवल �न�कष� II और III अनुसरण करत ेह�।

4. या तो �न�कष� I या �न�कष� III अनुसरण करता है।

Question ID : 5581012032
Status : Answered

Chosen Option : 1

Q.4 गीता ने कहा, '�तीक मेरे प�त क� इकलौती बेट� �ीजा का भाई है।' अ�मत ने कहा, '�तीक मेरे बेटे क� मा ंक� मां
का बेटा है।' �ीजा का अ�मत से �या संबंध है?

Ans 1. प�नी

2. बहन

3. बेट�

4. मां

Question ID : 5581012029
Status : Not Answered

Chosen Option : --

Q.5

Ans

1. 

2. 
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3. 

4. 

Question ID : 5581012036
Status : Answered

Chosen Option : 4

Q.6 उस सं�या का चयन कर� जो �न�न�ल�खत �ृंखला म� �� �च� (?) के �थान पर आएगी।

17, 19, 24, 34, 51, ?

Ans 1. 79

2. 75

3. 77

4. 78

Question ID : 5581012033
Status : Not Answered

Chosen Option : --

Q.7 उन अ�र� के संयोजन का चयन कर� जो द� गई अ�र �ृंखला के �र� �थान� म� ��मक �प से रख ेजाने पर
�ृंखला को पूरा कर�गे।

T _ C _ _ H _ Q T _ C Q

Ans 1. HTQHC

2. HQTHC

3. HQCTH

4. HQTCH

Question ID : 5581012027
Status : Answered

Chosen Option : 4

Q.8

Ans

1. 
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2. 

3. 

4. 

Question ID : 5581012038
Status : Answered

Chosen Option : 2

Q.9 एक कोड भाषा म�, य�द 'SCENERY' को '3861028103650' के �प म� कोडब� �कया गया है, तो उसी कोड
भाषा म� ‘HUMID’ को कैसे कोडब� �कया जाएगा?

Ans 1. 16426918

2. 16212698

3. 8211394

4. 164226188

Question ID : 5581012024
Status : Answered

Chosen Option : 4

Q.10 A & B का अथ� है �क 'A, B क� मा ंहै'
A% B का अथ� है �क 'A, B क� बेट� है'
A # B का अथ� है �क 'A, B क� बहन है'
A $ B का अथ� है �क 'A, B का पु� है'
य�द U & T & K # C% Z $ S है, तो T, S से कैसे संबं�धत है?

Ans 1. बेटे क� बेट�

2. बेट� का प�त

3. बेटे क� प�नी क� मां

4. बेटे क� प�नी

Question ID : 5581012030
Status : Answered

Chosen Option : 2

Q.11 Select the option that is related to the third word in the same way as the second word is
related to the first word. 

Engineering : Mechanical : : Management : ?

Ans 1. Authority

2. Colleague
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3. Manager

4. Marketing

Question ID : 5581012019
Status : Answered

Chosen Option : 4

Q.12 'अंडा', 'जरद� ' स ेउसी तरह संबं�धत ह,ै �जस तरह 'ना�रयल' ' ________ ' स ेसंबं�धत है।

Ans 1. पेड़

2. पौ��क

3. पानी

4. भोजन करना

Question ID : 5581012020
Status : Answered

Chosen Option : 3

Q.13 उन अ�र� के संयोजन का चयन कर� जो द� गई अ�र �ृंखला के �र� �थान� म� ��मक �प स ेरख ेजाने पर
�ृंखला को पूरा कर�गे।

K _ C T _ B L U C _ M _ M _ C _ M B

Ans 1. UMTUUT

2. UMTUBT

3. BMTUBT

4. UMTBUT

Question ID : 5581012028
Status : Answered

Chosen Option : 4

Q.14 एक कोड भाषा म� 'SURGE' को 'GITWU' �लखा जाता है। उसी कोड भाषा म� ‘LIGHT’ को कैस े�लखा जायेगा?

Ans 1. UJIMN

2. VJIKN

3. VKIJM

4. VJILM

Question ID : 5581012022
Status : Answered

Chosen Option : 2

Q.15 �च�ह� का कौन-सा अनु�म नीचे �दए गए A, B, C, D के �थान पर उसी अनु�म म� रख ेजाने पर �दए गए
समीकरण को ठ�क हल करेगा?

98 A 80 B 40 C 36 D 9 = 18

Ans 1. ×, ÷, –, +

2. +, ÷, –, ×

3. ×, +, –, ÷

4. +, –, ×, ÷

Question ID : 5581012035
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Status : Answered
Chosen Option : 4

Q.16 �न�न�ल�खत श�द� को ता�क�क और साथ�क �म म� �व��थत करते �ए सही �वक�प का चयन �क�जए।

1. कुआला ला�पुर 
2. मले�शया 
3. �व� 
4. ए�शया 
5. पे�ोनास टावर

Ans 1. 1, 5, 2, 3, 4

2. 5, 1, 2, 3, 4

3. 5, 1, 4, 2, 3

4. 5, 1, 2, 4, 3

Question ID : 5581012017
Status : Answered

Chosen Option : 4

Q.17 �न�न�ल�खत म� कौन-सा �वक�प नीचे �दए गए श�द� के उस सही �म को दशा�ता ह,ै जैसा �क वे अं�ेजी
श�दकोश म� होत ेह�?

1. Persecute
2. Personal
3. Persistent
4. Performance
5. Perfection

Ans 1. 4, 5, 1, 3, 2

2. 5, 4, 3, 1, 2

3. 5, 4, 1, 3, 2

4. 5, 4, 2, 3, 1

Question ID : 5581012018
Status : Answered

Chosen Option : 3

Q.18 एक कोड भाषा म� 'PERTURB' को 'UTRRPEB' �लखा जाता है। उसी कोड भाषा म� ‘FREEZER’ को कैसे
�लखा जायेगा?

Ans 1. ZRRRFEE

2. ZRRFEER

3. ZRFEEEE

4. ZRRFEEE

Question ID : 5581012023
Status : Answered

Chosen Option : 1

Q.19 एक कोड भाषा म�, य�द 'PLAYER' को '119' के �प म� कोडब� �कया गया ह,ै तो उसी कोड भाषा म�
‘OPTIONS’ को कैस ेकोडब� �कया जाएगा?

Ans 1. 111

2. 131

3. 141

4. 121
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Question ID : 5581012025
Status : Not Answered

Chosen Option : --

Q.20 उस अ�र-समूह का चयन कर� जो नीचे द� गई �ृंखला म� ��-�च� (?) के �थान पर आएगा?

CEG, LNP, UWY, DFH, ?

Ans 1. MNQ

2. NOP

3. MOQ

4. NPQ

Question ID : 5581012016
Status : Answered

Chosen Option : 3

Q.21 उस अ�र-समूह का चयन कर� जो नीचे द� गई �ृंखला म� ��-�च� (?) के �थान पर आएगा?

TRKM, XVIK, BZGI, ?, JHCE

Ans 1. FDFG

2. FDEG

3. EDFH

4. FEGG

Question ID : 5581012015
Status : Answered

Chosen Option : 2

Q.22 एक कोड भाषा म�, य�द 'MOON' को '5229' , 'FILM' को '6315' और 'ARE' को '487' के �प म� कोडब� �कया
गया है, तो उसी कोड भाषा म� 'INFORMER' को कैसे कोडब� �कया जाएगा?

Ans 1. 39628578

2. 39162258

3. 79627578

4. 39611578

Question ID : 5581012026
Status : Not Answered

Chosen Option : --

Q.23

Ans
1. 

2. 

3. 
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4. 

Question ID : 5581012039
Status : Answered

Chosen Option : 3

Q.24 उस �वक�प का चयन कर� जो तीसरी सं�या स ेउसी तरह स ेसंबं�धत ह ैजैस े�सरी सं�या पहली सं�या से
संबं�धत है।

17 : 290 : : 18 : ?

Ans 1. 326

2. 324

3. 323

4. 325

Question ID : 5581012034
Status : Answered

Chosen Option : 4

Q.25 एक कोड भाषा म� 'SERVICE' को 'RESVECI' �लखा जाता है। उसी कोड भाषा म� ‘NAUGHTY’ को कैस े�लखा
जायेगा?

Ans 1. UANGYTH

2. UANGTYH

3. GUANYTH

4. UNAGYHT

Question ID : 5581012021
Status : Answered

Chosen Option : 1

Q.1 Select the most appropriate antonym of the given word.

AMATEUR

Ans 1. professional

2. vocalist

3. actor

4. singer

Question ID : 5581011822
Status : Answered

Chosen Option : 1

Q.2 Choose the option that is the direct form of the sentence.

He asked the front office executive if Mr Mahajan was in the office at that time.

Ans 1. He asked the front office executive, "Is Mr Mahajan in the office now?"

2. He asked the front office executive, "Mr Mahajan was in the office today?"

3. He asked the front office executive, "If Mr Mahajan is in the office now?"

Section : English Language Basic Knowledge
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4. He asked the front office executive, "Mr Mahajan was in the office at that time."

Question ID : 5581011814
Status : Answered

Chosen Option : 1

Q.3 Select the alternative that will improve the underlined part of the sentence. In case there is
no improvement select “No improvement”.

It is advisable not to use a lift when there is a fire in a building.

Ans 1. It are advisable

2. It was advisable

3. No improvement

4. It is advising

Question ID : 5581011816
Status : Answered

Chosen Option : 4

Q.4 Select the word which means the same as the group of words given.

Widespread outbreak of a disease

Ans 1. infection

2. contamination

3. epidemic

4. attack

Question ID : 5581011824
Status : Answered

Chosen Option : 3

Q.5 Select the most appropriate synonym of the given word.

MISSIVE

Ans 1. energy

2. objective

3. rocket

4. letter

Question ID : 5581011821
Status : Answered

Chosen Option : 2

Comprehension:

Read the passage and answer the questions given below it.

Historians differ on exactly when the modern scientific age began, but certainly by the time
Galileo Galilei, Rene C Descartes, and Isaac Newton had had their say, it was briskly under way.
In those days, the new scientific mind-set was being steadily forged, as patterns found in
terrestrial and astronomical data made it increasingly clear that there is an order to all the
comings and goings of the cosmos, an order accessible to careful reasoning and mathematical
analysis. These early pioneers of modern scientific thought argued that, when looked at the
right way, the happenings in the universe not only are explicable but predictable. The power of
science to foretell aspects of the future-consistently and quantitatively-had been revealed.
Early scientific study focused on the kinds of things one might see or experience in everyday
life. Galileo dropped weights from a leaning tower (or so legend has it) and watched balls rolling

https://haryanajobs.in



down inclined surfaces; Newton studied falling apples (or so legend has it) and the orbit of the
moon. The goal of these investigations was to attune the nascent scientific ear to nature's
harmonies. To be sure, physical reality was the stuff of experience, but the challenge was to
hear the rhyme and reason behind the rhythm and regularity. Many sung and unsung heroes
contributed to the rapid and impressive progress that was made, but Newton stole the show.
With a handful of mathematical equations, he synthesized everything known about motion on
earth and in the heavens, and in so doing, composed the score for what has come to be known
as classical physics. In the decades following Newton's work, his equations were developed
into elaborate mathematical structures that significantly extended both their reach and their
practical utility. Classical physics gradually became a sophisticated and mature scientific
discipline. But shining clearly through all these advances was the beacon of Newton's original
insights.

SubQuestion No : 6

Q.6 The most significant contribution of the pioneers of science was to show that

Ans 1. Sometimes there were connections between human life and the cosmos

2. Man can find patterns in the universe

3. It was possible to study what was going to happen in the future

4. Science cannot explain and predict the events of the universe

Question ID : 5581011836
Status : Answered

Chosen Option : 3

Comprehension:

Read the passage and answer the questions given below it.

Historians differ on exactly when the modern scientific age began, but certainly by the time
Galileo Galilei, Rene C Descartes, and Isaac Newton had had their say, it was briskly under way.
In those days, the new scientific mind-set was being steadily forged, as patterns found in
terrestrial and astronomical data made it increasingly clear that there is an order to all the
comings and goings of the cosmos, an order accessible to careful reasoning and mathematical
analysis. These early pioneers of modern scientific thought argued that, when looked at the
right way, the happenings in the universe not only are explicable but predictable. The power of
science to foretell aspects of the future-consistently and quantitatively-had been revealed.
Early scientific study focused on the kinds of things one might see or experience in everyday
life. Galileo dropped weights from a leaning tower (or so legend has it) and watched balls rolling
down inclined surfaces; Newton studied falling apples (or so legend has it) and the orbit of the
moon. The goal of these investigations was to attune the nascent scientific ear to nature's
harmonies. To be sure, physical reality was the stuff of experience, but the challenge was to
hear the rhyme and reason behind the rhythm and regularity. Many sung and unsung heroes
contributed to the rapid and impressive progress that was made, but Newton stole the show.
With a handful of mathematical equations, he synthesized everything known about motion on
earth and in the heavens, and in so doing, composed the score for what has come to be known
as classical physics. In the decades following Newton's work, his equations were developed
into elaborate mathematical structures that significantly extended both their reach and their
practical utility. Classical physics gradually became a sophisticated and mature scientific
discipline. But shining clearly through all these advances was the beacon of Newton's original
insights.

SubQuestion No : 7

Q.7 What played a major role in all the experiments of early scientists?

Ans 1. Mathematical equations

2. Balls rolling down

3. Physical reality

4. Dropping weights

Question ID : 5581011834
Status : Answered

Chosen Option : 3

Comprehension:

Read the passage and answer the questions given below it.
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Historians differ on exactly when the modern scientific age began, but certainly by the time
Galileo Galilei, Rene C Descartes, and Isaac Newton had had their say, it was briskly under way.
In those days, the new scientific mind-set was being steadily forged, as patterns found in
terrestrial and astronomical data made it increasingly clear that there is an order to all the
comings and goings of the cosmos, an order accessible to careful reasoning and mathematical
analysis. These early pioneers of modern scientific thought argued that, when looked at the
right way, the happenings in the universe not only are explicable but predictable. The power of
science to foretell aspects of the future-consistently and quantitatively-had been revealed.
Early scientific study focused on the kinds of things one might see or experience in everyday
life. Galileo dropped weights from a leaning tower (or so legend has it) and watched balls rolling
down inclined surfaces; Newton studied falling apples (or so legend has it) and the orbit of the
moon. The goal of these investigations was to attune the nascent scientific ear to nature's
harmonies. To be sure, physical reality was the stuff of experience, but the challenge was to
hear the rhyme and reason behind the rhythm and regularity. Many sung and unsung heroes
contributed to the rapid and impressive progress that was made, but Newton stole the show.
With a handful of mathematical equations, he synthesized everything known about motion on
earth and in the heavens, and in so doing, composed the score for what has come to be known
as classical physics. In the decades following Newton's work, his equations were developed
into elaborate mathematical structures that significantly extended both their reach and their
practical utility. Classical physics gradually became a sophisticated and mature scientific
discipline. But shining clearly through all these advances was the beacon of Newton's original
insights.

SubQuestion No : 8

Q.8 This passage is mainly about

Ans 1. the humourous side of science

2. searching for explanations for scientific discoveries

3. describing the harmony between science and nature

4. the experiments of early scientists

Question ID : 5581011833
Status : Answered

Chosen Option : 3

Comprehension:

Read the passage and answer the questions given below it.

Historians differ on exactly when the modern scientific age began, but certainly by the time
Galileo Galilei, Rene C Descartes, and Isaac Newton had had their say, it was briskly under way.
In those days, the new scientific mind-set was being steadily forged, as patterns found in
terrestrial and astronomical data made it increasingly clear that there is an order to all the
comings and goings of the cosmos, an order accessible to careful reasoning and mathematical
analysis. These early pioneers of modern scientific thought argued that, when looked at the
right way, the happenings in the universe not only are explicable but predictable. The power of
science to foretell aspects of the future-consistently and quantitatively-had been revealed.
Early scientific study focused on the kinds of things one might see or experience in everyday
life. Galileo dropped weights from a leaning tower (or so legend has it) and watched balls rolling
down inclined surfaces; Newton studied falling apples (or so legend has it) and the orbit of the
moon. The goal of these investigations was to attune the nascent scientific ear to nature's
harmonies. To be sure, physical reality was the stuff of experience, but the challenge was to
hear the rhyme and reason behind the rhythm and regularity. Many sung and unsung heroes
contributed to the rapid and impressive progress that was made, but Newton stole the show.
With a handful of mathematical equations, he synthesized everything known about motion on
earth and in the heavens, and in so doing, composed the score for what has come to be known
as classical physics. In the decades following Newton's work, his equations were developed
into elaborate mathematical structures that significantly extended both their reach and their
practical utility. Classical physics gradually became a sophisticated and mature scientific
discipline. But shining clearly through all these advances was the beacon of Newton's original
insights.

SubQuestion No : 9

Q.9 Which word/phrase does the writer use to describe the potential of the great persons
mentioned here?

Ans 1. accessible

2. rhythm and regularity

3. nascent
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4. rhyme and reason

Question ID : 5581011835
Status : Not Answered

Chosen Option : --

Comprehension:

Read the passage and answer the questions given below it.

Historians differ on exactly when the modern scientific age began, but certainly by the time
Galileo Galilei, Rene C Descartes, and Isaac Newton had had their say, it was briskly under way.
In those days, the new scientific mind-set was being steadily forged, as patterns found in
terrestrial and astronomical data made it increasingly clear that there is an order to all the
comings and goings of the cosmos, an order accessible to careful reasoning and mathematical
analysis. These early pioneers of modern scientific thought argued that, when looked at the
right way, the happenings in the universe not only are explicable but predictable. The power of
science to foretell aspects of the future-consistently and quantitatively-had been revealed.
Early scientific study focused on the kinds of things one might see or experience in everyday
life. Galileo dropped weights from a leaning tower (or so legend has it) and watched balls rolling
down inclined surfaces; Newton studied falling apples (or so legend has it) and the orbit of the
moon. The goal of these investigations was to attune the nascent scientific ear to nature's
harmonies. To be sure, physical reality was the stuff of experience, but the challenge was to
hear the rhyme and reason behind the rhythm and regularity. Many sung and unsung heroes
contributed to the rapid and impressive progress that was made, but Newton stole the show.
With a handful of mathematical equations, he synthesized everything known about motion on
earth and in the heavens, and in so doing, composed the score for what has come to be known
as classical physics. In the decades following Newton's work, his equations were developed
into elaborate mathematical structures that significantly extended both their reach and their
practical utility. Classical physics gradually became a sophisticated and mature scientific
discipline. But shining clearly through all these advances was the beacon of Newton's original
insights.

SubQuestion No : 10

Q.10 Which one of the following sums up the most important contribution of Newton to science
today?

Ans 1. He developed elaborate mathematical structures

2. He laid the foundations for classical physics

3. He employed careful reasoning and mathematical analysis

4. He presented original insights

Question ID : 5581011837
Status : Not Answered

Chosen Option : --

Q.11 Choose the option that is the passive form of the sentence.

The two brothers had invested their savings in their new business.

Ans 1. Their savings had invested in their new business by the two brothers.

2. Their savings had been invested in their new business by the two brothers.

3. The two brothers had been investing their savings in their new business.

4. Their new business had invested their savings by the two brothers.

Question ID : 5581011812
Status : Answered

Chosen Option : 2

Q.12 Choose the option that is the indirect form of the sentence.

The reviewer said, "She writes exceptionally good short stories."

Ans 1. The reviewer remarked that she is writing exceptionally good short stories.
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2. The reviewer said she write exceptionally good short stories.

3. The reviewer said that she wrote exceptionally good short stories.

4. The reviewer remarked that she will be writing exceptionally good short stories.

Question ID : 5581011815
Status : Answered

Chosen Option : 3

Q.13 Select the most appropriate option to fill in the blank.

All the files are routed ______ the Section Officer of the department.

Ans 1. across

2. along

3. through

4. over

Question ID : 5581011819
Status : Answered

Chosen Option : 1

Q.14 Given below are four jumbled sentences. Pick the option that gives their correct order. 

A. Hotels will refund guests if it rains.
B. Only one thing can spoil those idyllic holiday plans: rain.
C. Hordes of tourists visit the Italian seaside with dreams of dipping into cobalt-blue waters
and sunbathing for hours under the glorious skies.
D. But, beginning this month, the Italian island of Elba, off the coast of Tuscany, started
offering tourists an unexpected guarantee.

Ans 1. DCBA

2. BDAC

3. CBDA

4. CADB

Question ID : 5581011820
Status : Answered

Chosen Option : 3

Q.15 Select the alternative that will improve the underlined part of the sentence.
In case there is no improvement select “No improvement”.

We would like to invited you to chair a session at our Conference early next year.

Ans 1. can like to invite you

2. No improvement

3. would like to invite you

4. have like to invite you

Question ID : 5581011817
Status : Answered

Chosen Option : 3

Q.16 Identify the segment in the sentence, which contains the grammatical error.

The engineers declared that the old building which collapsed last week was not fit from
occupation.
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Ans 1. which collapsed last week

2. was not fit from occupation

3. that the old building

4. The engineers declared

Question ID : 5581011811
Status : Answered

Chosen Option : 2

Q.17 Select the most appropriate meaning of the underlined idiom in the given sentence.

Sirisha is sharp as a tack in her Mathematics class.

Ans 1. loud and cheerful

2. very talkative

3. restless and disturbing

4. mentally active

Question ID : 5581011823
Status : Answered

Chosen Option : 4

Q.18 Choose the option that is the active form of the sentence.

An official acknowledgement had been given for the amount we paid towards the first
instalment.

Ans 1. They are giving an official acknowledgement for the amount we paid towards the first
instalment.

2. They are gave an official acknowledgement for the amount we paid towards the first
instalment.

3. They had been given an official acknowledgement for the amount we paid towards
the first instalment.

4. They gave us an official acknowledgement for the amount we paid towards the first
instalment.

Question ID : 5581011813
Status : Answered

Chosen Option : 3

Q.19 Select the INCORRECTLY spelt word.

Ans 1. colleague

2. bizzare

3. usually

4. conscious

Question ID : 5581011825
Status : Answered

Chosen Option : 2

Q.20 Select the most appropriate option to fill in the blank.

They were disappointed ______ not being allowed to go to the mall.

Ans 1. for
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2. from

3. in

4. at

Question ID : 5581011818
Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the increase in population and urbanisation everything which is organic is getting more
expensive. However, there (1)______ ways through which you can cut your expenses (2)______
grocery shopping by having your own kitchen garden. (3)______ from the advantage of cutting
your food bills, there is (4)______ tastier or healthier than using the (5)______ ingredients for the
table, straight from your garden.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank No.1.

Ans 1. has

2. are

3. is

4. was

Question ID : 5581011827
Status : Answered

Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the increase in population and urbanisation everything which is organic is getting more
expensive. However, there (1)______ ways through which you can cut your expenses (2)______
grocery shopping by having your own kitchen garden. (3)______ from the advantage of cutting
your food bills, there is (4)______ tastier or healthier than using the (5)______ ingredients for the
table, straight from your garden.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank No.2.

Ans 1. in

2. to

3. with

4. by

Question ID : 5581011828
Status : Answered

Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the increase in population and urbanisation everything which is organic is getting more
expensive. However, there (1)______ ways through which you can cut your expenses (2)______
grocery shopping by having your own kitchen garden. (3)______ from the advantage of cutting
your food bills, there is (4)______ tastier or healthier than using the (5)______ ingredients for the
table, straight from your garden.
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SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank No.3.

Ans 1. Apart

2. Although

3. Along

4. Against

Question ID : 5581011829
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the increase in population and urbanisation everything which is organic is getting more
expensive. However, there (1)______ ways through which you can cut your expenses (2)______
grocery shopping by having your own kitchen garden. (3)______ from the advantage of cutting
your food bills, there is (4)______ tastier or healthier than using the (5)______ ingredients for the
table, straight from your garden.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank No.4.

Ans 1. something

2. nothing

3. everything

4. anything

Question ID : 5581011830
Status : Answered

Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the increase in population and urbanisation everything which is organic is getting more
expensive. However, there (1)______ ways through which you can cut your expenses (2)______
grocery shopping by having your own kitchen garden. (3)______ from the advantage of cutting
your food bills, there is (4)______ tastier or healthier than using the (5)______ ingredients for the
table, straight from your garden.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank No.5.

Ans 1. freshest

2. curried

3. expensive

4. spicy

Question ID : 5581011831
Status : Answered

Chosen Option : 3

Q.1

Section : Quantitative Aptitude Basic Arithmetic Skill
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Ans
1. 

2. 

3. 

4. 

Question ID : 5581011879
Status : Answered

Chosen Option : 2

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011874
Status : Not Answered

Chosen Option : --

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011876
Status : Answered

Chosen Option : 2

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011863
Status : Not Answered

Chosen Option : --
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Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011868
Status : Answered

Chosen Option : 4

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011878
Status : Answered

Chosen Option : 2

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011881
Status : Answered

Chosen Option : 2

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011869
Status : Answered

Chosen Option : 1

Q.9
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Ans 1. 

2. 

3. 

4. 

Question ID : 5581011885
Status : Answered

Chosen Option : 2

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011866
Status : Answered

Chosen Option : 4

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011870
Status : Answered

Chosen Option : 2

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011875
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Status : Answered
Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011884
Status : Answered

Chosen Option : 3

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011877
Status : Answered

Chosen Option : 2

Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 5581011886
Status : Answered

Chosen Option : 1

Q.16

Ans 1. 

2. 

3. 
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4. 

Question ID : 5581011873
Status : Answered

Chosen Option : 4

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011880
Status : Answered

Chosen Option : 2

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011864
Status : Answered

Chosen Option : 4

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011867
Status : Answered

Chosen Option : 4

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011871
Status : Answered

Chosen Option : 4
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Q.21

Ans
1. 

2. 

3. 

4. 

Question ID : 5581011882
Status : Answered

Chosen Option : 2

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011883
Status : Answered

Chosen Option : 2

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 5581011865
Status : Answered

Chosen Option : 1

Q.24

Ans 1. 
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2. 

3. 

4. 

Question ID : 5581011887
Status : Not Answered

Chosen Option : --

Q.25

Ans
1. 

2. 

3. 

4. 

Question ID : 5581011872
Status : Answered

Chosen Option : 2

Q.1 1977 म�, पेल ेकोलकाता के एक फुटबॉल �लब के �लए खेलन ेआये थे। वह कौन-सा �लब है?

Ans 1. �ले�म�गो

2. साओ पाउलो

3. कॉ�मोस

4. स�टोस

Question ID : 5581011912
Status : Not Answered

Chosen Option : --

Q.2 अग�त 2019 म�, मानव संसाधन �वकास मं�ी, रमेश पोख�रयाल ने �कूली �श�ा के �लए ��नया के सबसे बड़ा
एक�कृत ऑनलाइन जं�शन ______ का शुभारंभ �कया था।

Ans 1. शगुन

2. सं�कृ�त

3. संपृ�त

4. सं�ाम

Question ID : 5581011892
Status : Answered

Chosen Option : 1

Q.3 �न�न�ल�खत म� से �कस मं�ालय �ारा 'अंगीकार अ�भयान' क� शु�आत क� गयी है?

Ans 1. उ�ोग और वा�ण�य मं�ालय

Section : General Awareness

https://haryanajobs.in



2. कृ�ष और �कसान क�याण मं�ालय

3. आवास और शहरी काय� मं�ालय

4. रसायन और उव�रक मं�ालय

Question ID : 5581011893
Status : Answered

Chosen Option : 3

Q.4 'संथाली' और 'खासी' का संबंध ______ भाषा प�रवार स ेहै।

Ans 1. ऑ��ो-ए�शयाई

2. इंडो-आय�न

3. �त�बती-बम�न

4. �न�ोइड

Question ID : 5581011888
Status : Answered

Chosen Option : 3

Q.5 एक �गामी तरंग (Progressive Wave) म�, दो �ब��� के बीच चरण अंतर (�ड�ी म�) �कसके �वपरीत होता ह?ै

Ans 1. 360

2. 270

3. 180

4. 90

Question ID : 5581011897
Status : Answered

Chosen Option : 4

Q.6 �न�न�ल�खत म� स ेकौन भारत के पहल ेवा�ण�य और उ�ोग मं�ी थ?े

Ans 1. च�वत� राजगोपालाचारी

2. जगजीवन राम

3. �याम �साद मुखज�

4. अबुल कलाम आज़ाद

Question ID : 5581011905
Status : Answered

Chosen Option : 3

Q.7 �न�न�ल�खत म� स ेकौन बा�द का घटक नह� ह?ै

Ans 1. पोटे�शयम नाइ�ेट

2. चारकोल

3. स�फर

4. कै��शयम काब�नेट

Question ID : 5581011894
Status : Answered

Chosen Option : 4
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Q.8 �कसी ल�स के मु�य अ� पर फोकस भटकन ेके कारण छ�व �नमा�ण म� आय ेदोष को ______ कहा जाता है।

Ans 1. ���वैष�य

2. �व�पण

3. वण� �वपथन

4. गोलाकार �वपथन

Question ID : 5581011896
Status : Answered

Chosen Option : 3

Q.9 �न�न�ल�खत म� स े�कसन ेमुगल दरबार म� चार साल (1615-1619) �बताए थ?े

Ans 1. फादर मोनसेरेट

2. जॉन �ड ��टो

3. फादर �पयर े� जा�रक

4. सर थॉमस रो

Question ID : 5581011904
Status : Answered

Chosen Option : 4

Q.10 पोटे�शयम �लोरेट के अपघटन के मा�यम स ेऑ�सीजन बनाने क� ���या म� कौन-सा रासाय�नक यौ�गक
उ��ेरक का काम करता ह?ै

Ans 1. म�गनीज डाइऑ�साइड

2. म�गनीज ऑ�साइड

3. पोटे�शयम �लोराइड

4. पोटे�शयम परम�गनेट

Question ID : 5581011895
Status : Answered

Chosen Option : 4

Q.11 पा�ण�न क� ��स� पु�तक, 'अ�ा�यायी' �न�न�ल�खत म� स े�कस �े� स ेसंबं�धत ह?ै

Ans 1. �ाकरण

2. नाटक

3. औष�ध

4. क�वता

Question ID : 5581011902
Status : Answered

Chosen Option : 1

Q.12 �न�न�ल�खत म� स ेकौन-सी एक �हमालयी पव�त�ृंखला नह� ह?ै

Ans 1. पीर पंजाल

2. धौलाधार

3. �शवा�लक

4. सतपुड़ा

Question ID : 5581011899
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Status : Answered
Chosen Option : 4

Q.13 नॉव� का एबेल पुर�कार ______ के �े� म� ��तवष� �दान �कया जाता है।

Ans 1. वा�त-ुकला

2. अंत�र� अनुसंधान

3. सा�ह�य

4. ग�णत

Question ID : 5581011908
Status : Answered

Chosen Option : 4

Q.14 मानव संसाधन �वकास मं�ालय, भारत सरकार �ारा शु� क� गयी शै��णक पहल, SWAYAM म� �सर े'A' का
�तीक (stands for) �या ह?ै

Ans 1. ऑ�मे�टेशन

2. ऑ�डयो

3. अ�पाइ�र�ग

4. ए��टव

Question ID : 5581011891
Status : Answered

Chosen Option : 4

Q.15 जैन दश�न के स�दभ� म�, �न�न�ल�खत म� स ेकौन-सा श�द 'अचौय�' को दशा�ता ह?ै

Ans 1. अप�रगृह

2. अ�तेय

3. ��चय�

4. स�य

Question ID : 5581011903
Status : Answered

Chosen Option : 3

Q.16 भारत क� सं�वधान सभा ने देवनागरी �ल�प म� �लखी जान ेवाली �ह�द� को भारतीय गणरा�य क� आ�धका�रक
भाषा� म� स ेएक के �प म� �कस �दन अंगीकार �कया?

Ans 1. 2 अ�टूबर

2. 15 अग�त

3. 16 अ�टूबर

4. 14 �सतंबर

Question ID : 5581011909
Status : Answered

Chosen Option : 4

Q.17 �न�न�ल�खत म� स े�कस अ�भनय कला (performing art) म�, �मझावु �मुख वा�यं� ह?ै

Ans 1. स���या

2. कु�चपुड़ी

3. ओ�डसी
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4. कू�डया�म्

Question ID : 5581011890
Status : Not Answered

Chosen Option : --

Q.18 महाबले�र का पहाड़ी शहर ______ म� ��थत है।

Ans 1. केरल

2. महारा�

3. �हमाचल �देश

4. त�मलनाडु

Question ID : 5581011900
Status : Answered

Chosen Option : 3

Q.19 �न�न�ल�खत म� स ेकौन-सा देश भू-आब� (ल�डलॉक) देश ह?ै

Ans 1. पा�क�तान

2. चीन

3. मंगो�लया

4. �यांमार

Question ID : 5581011898
Status : Answered

Chosen Option : 3

Q.20 �ह�द� सा�ह�य के �े� म�, �न�न�ल�खत म� स े�कस ेसा�ह�य अकादमी पुर�कार स ेस�मा�नत �कया गया ह?ै

Ans 1. गुलाम नबी �फराक

2. कैफ़� आज़मी

3. अमृता �ीतम

4. ह�रवंशराय ब�चन

Question ID : 5581011889
Status : Answered

Chosen Option : 3

Q.21 �सतंबर 2019 तक क� ��थ�त के अनुसार, �न�न�ल�खत म� स ेकौन भारत के थल सेना�य� ह?ै

Ans 1. द�पक कपूर

2. �ब�पन रावत

3. दलबीर �स�ह सुहाग

4. �ब�म �स�ह

Question ID : 5581011906
Status : Answered

Chosen Option : 2

Q.22 पु�तक� और उनके लेखक के स�दभ� म�, �न�न�ल�खत म� स ेकौन-सा यु�म बेमेल ह?ै

Ans 1. ओ�लवर ट्�व�ट - थॉमस हाड�
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2. पैराडाइज़ लॉ�ट - जॉन �म�टन

3. �क�ग �लयर - �व�लयम शे�स�पयर

4. �थ��स फाल अपाट� - �चनुआ अचेबे

Question ID : 5581011907
Status : Not Answered

Chosen Option : --

Q.23 �सतंबर 2019 तक क� ��थ�त के अनुसार, �न�न�ल�खत म� स ेकौन संयु� रा� के महास�चव ह�?

Ans 1. कट� व�डहेम

2. बुतरस-घाली

3. बान क� मून

4. एटंो�नयो गुटेरेस

Question ID : 5581011910
Status : Answered

Chosen Option : 4

Q.24 अमे�रका म�, अगला रा�प�त चुनाव कब होगा?

Ans 1. 3 नवंबर, 2020

2. 16 नवंबर, 2020

3. 4 अ�टूबर, 2020

4. 14 �दसंबर, 2020

Question ID : 5581011911
Status : Not Answered

Chosen Option : --

Q.25 प�ा रा�ीय उ�ान कहा ँ��थत ह?ै

Ans 1. कना�टक

2. म�य �देश

3. प��म बंगाल

4. असम

Question ID : 5581011901
Status : Answered

Chosen Option : 2
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